FLORIDA ELECTIONS COMMISSION

** PUBLIC AGENDA RESULTS** February 7, 2024

	rebruary 7, 2024	Vote
Roll Call	Chad Mizelle, Chairman John Martin Hayes Rick Joyce Carlos Lopez-Cantera Marva Preston	
	Ed Tellechea, Commission's Counsel	
Approval of November 14-15, 2023 Meeting Minutes	Approved	5-0
	AUTOMATIC FINE APPEALS	
Case Name & No.		Vote
Brian Staver FEC 22-475	Motion to find no unusual circumstances. Fine upheld.	5-0
Brian Staver FEC 22-530	Motion to find no unusual circumstances. Fine upheld.	5-0
Brian Staver FEC 23-138	Motion to find no unusual circumstances. Fine upheld.	5-0
Brian Staver FEC 23-139	Motion to find no unusual circumstances. Fine upheld.	5-0
Jason Edward Bloch FEC 23-133	Motion to continue.	5-0
Hoyt L. Prindle, III FEC 23-142	Motion to find unusual circumstances. Fine waived.	5-0
Democratic Women's Club of Florida Political Committee FEC 23-155	Motion to find no unusual circumstances. Fine upheld.	5-0
Hubert R. Brown FEC 23-159	Motion to find unusual circumstances. Fine reduced to \$1,000.	5-0
Christopher Benjamin FEC 23-160	Motion to find no unusual circumstances. Fine upheld.	5-0

AUTOMATIC FINE APPEALS

Case Name & No.		Vote
Gulf Coast Community Action Agency- Protecting Our Kids FEC 23-182	Motion to find no unusual circumstances. Fine upheld.	5-0
Gustavo Ortega FEC 23-184	Motion to find no unusual circumstances. Fine upheld.	5-0
Gustavo Ortega FEC 23-220	Motion to find no unusual circumstances. Fine upheld.	5-0
Last Line of Defense Fund FEC 23-195	Motion to find no unusual circumstances. Fine upheld.	5-0

APPEAL OF INTENT TO CANCEL REGISTRATION

Case Name & No.		Vote
Broward Allied Medical PAC FEC 23-140	Motion to set-a-side cancellation of political committee.	5-0

INFORMAL HEARINGS

Case Name & No.		Vote
Amy Kedron FEC 19-147	Motion to find a violation of 1 count of Section 106.141(1) [Count 1], 12 counts of Section 106.07(5) [Counts 2-13], and 10 counts of Section 106.19(1)(c) [Counts 14-23], Florida Statutes, and to impose a \$500 fine for each count for a total fine of \$11,500.	5-0
Brandon Byers FEC 19-582	Motion to find a violation of 1 count of Section 106.141(1) [Count 1], and 1 count of Section 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$500 fine per count for a total fine of \$1,000.	5-0
Alvin Pollock FEC 20-138	Motion to find a violation of 4 counts of Section 106.19(1)(a) [Counts 1-4], 12 counts of Section 106.07(5) [Counts 5-16], and 12 counts of Section 106.19(1)(c) [Counts 17-28], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$28,000.	5-0
David Cannady FEC 21-001	Motion to find a violation of 1 count of Section 106.141(1) [Count 1] and 1 count of Section 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$2,000.	5-0

INFORMAL HEARINGS

Case Name & No.		Vote
Kevin Chambliss FEC 21-002	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$1,000 fine.	5-0
Jessica Laguerre Hylton FEC 21-008	Motion to find a violation of 1 count of Section 106.141(1) [Count 1] and 1 count of Section 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$1,000 fine for each count for a total fine of \$2,000.	5-0
Heather Fitzenhagen FEC 21-137	Motion to find no violation of Section 106.141(9) [Counts 1-2], Florida Statutes.	5-0
Timothy Herbert FEC 21-147	Motion to find a violation of 1 count of Section 106.143(1)(a) [Count 1], Florida Statutes, and to impose a \$125 fine.	5-0
Timothy Herbert FEC 21-156	Motion to find a violation of 1 count of Section 106.143(1)(a) [Count 1] and to find no violation of Section 106.143(6) [Count 2], Florida Statutes, and to impose a \$125 fine.	5-0
Danika Fornear FEC 21-228	Motion to find a violation of 1 count of Section 106.141(1) [Count 1] and 1 count of Section 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$500 fine for each count for a total fine of \$1,000.	5-0
Michael Harvey, Sr. FEC 21-288	Motion to find a violation of 1 count of Section 106.07(7) [Count 1] and 1 count of Section 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$2,000.	5-0
George O. Navarini FEC 21-323	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Amy Rose FEC 21-382	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1] and 1 count of Section 106.0703(6) [Count 2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$2,000.	5-0
Bold Voter Action FEC 21-417	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Angel Luiz Garcia FEC 21-423	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Angel Luiz Garcia FEC 21-445	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Angel Luiz Garcia FEC 21-463	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Angel Luiz Garcia FEC 21-495	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0

INFORMAL HEARINGS

Case Name & No.		Vote
Angel Luiz Garcia FEC 22-020	Motion to find a violation of 2 counts of Section 106.07(7) [Counts 1-2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of 2,000.	5-0
Angel Luiz Garcia FEC 22-065	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Erica Gayden FEC 21-430	Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Anika Omphroy FEC 21-509	Motion to find a violation of 1 count of Section 106.19(1)(a) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
NOW PAC of Florida NOW FEC 22-017	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
NOW PAC of Florida NOW FEC 22-062	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Jeffrey Garcia FEC 22-037	Motion to find a violation of 1 count of Section 106.0703(2)(b)1. [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
Strong Families for a Better Future FEC 22-288	Motion to find a violation of 4 counts of Section 106.07(7) [Counts 1-4], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$400.	5-0
Haitian American Votes of Florida PAC FEC 22-302	Motion to find a violation of 2 counts of Section 106.07(7) [Counts 1-2], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$200.	5-0
All Things Common PC FEC 22-421	Motion to continue granted.	5-0
Patrick Lee Cooper FEC 22-423	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 fine.	5-0
P	REPROBABLE CAUSE CONSENT ORDERS	
Case Name & No.		Vote
Gordon Weekes FEC 20-506	Motion to accept consent order.	5-0
Ralph Armstead FEC 21-046	Motion to accept consent order.	5-0

PREPROBABLE CAUSE CONSENT ORDERS

Case Name & No.		Vote
Shevrin Jones FEC 21-377	Motion to accept consent order.	5-0
David Dwyer FEC 22-110	Motion to accept consent order.	5-0
Emily Nunez FEC 22-140	Motion to accept consent order.	5-0
Committee 4 Good Government FEC 22-427	Motion to accept consent order.	5-0
Floridians for Affordability in Real Estate and Sales Tax FEC 22-486	Motion to accept consent order.	5-0
Professional Firefighters: The Villages Local 4770 FEC 22-528	Motion to accept consent order.	5-0
Joni Martin FEC 23-079	Motion to accept consent order.	5-0
Florida Residents First FEC 23-146	Motion to accept consent order.	5-0
Maxwell Herrle FEC 23-189	Motion to accept consent order.	5-0
	OTHER MOTIONS: CONFIDENTIAL	
Case Name & No.		Vote
Connell Wise FEC 23-252	Motion to dismiss granted.	5-0
	PROBABLE CAUSE DETERMINATIONS	
Case Name & No.		Vote
Brian W. Morgan FEC 21-354	Motion to find no probable cause on violating Sections 106.07(5) and 106.19(1)(a), Florida Statutes.	5-0

PROBABLE CAUSE DETERMINATIONS

Case Name & No.		Vote
Adam Myron FEC 21-435	Motion to find no probable cause on violating Sections $106.07(5)$, $106.19(1)(a)$, $106.19(1)(b)$, $106.19(1)(c)$, and $106.19(1)(d)$, Florida Statutes.	5-0
Jeffrey Marc Siskind FEC 19-384	Motion to find no probable cause on violating Sections $106.07(5)$, $106.141(1)$, $106.19(1)(b)$, $106.19(1)(c)$, $106.19(1)(d)$, and to dismiss Section $106.08(3)(b)$, pursuant to Section $106.25(4)(j)$, Florida Statutes.	5-0
James McLynas FEC 20-278	Motion to find probable cause on violating Section 106.143(1)(a) [Count 1], Florida Statutes.	5-0
Christopher Lloyd Duncan, Jr. FEC 20-297	Motion to find probable cause on violating Section 106.07(7) [Counts 1-6], Florida Statutes, and no probable cause on violating Section 106.19(1)(c), Florida Statutes.	5-0
Larry J. Green FEC 20-325	Motion to find probable cause on violating Section 106.07(5) [Count 1], but to dismiss pursuant to Section 106.25(4)(j), and no probable cause on violating Section 106.19(1)(c), Florida Statutes.	5-0
Jamaad Cesar Batts FEC 20-488	Motion to find probable cause on violating Section 106.07(5) [Count 1], but to dismiss pursuant to Section 106.25(4)(j), and probable cause on violating Section 106.07(5) [Count 2] and 106.143(1)(a) [Count 3], and no probable cause on violating Section 106.19(1)(c), Florida Statutes.	5-0
Jeff Brower FEC 20-658	Motion to find no probable cause on violating Sections 106.07(5) [Count 1] and probable cause on violating Sections 106.143(1)(a) [Counts 2-3], 106.143(6) [Counts 4-5], but to dismiss pursuant to Section 106.25(4)(j), Florida Statutes.	5-0
Todd James Truax FEC 21-051	Motion to find probable cause on violating Sections 106.07(5) [Counts 1-12] and 106.19(1)(c) [Counts 13-15], and probable cause on violating Section 106.19(1)(d) [Counts 16-17], but to dismiss Counts 16-17, pursuant to Section 106.25(4)(j), and no probable cause on violating Sections 106.1405 and 106.19(1)(b), Florida Statutes.	5-0
Confidential Case # 1	Results confidential.	n/a
Confidential Case # 2	Results confidential.	n/a
Confidential Case # 3	Results confidential.	n/a

PROBABLE CAUSE DETERMINATIONS

Case Name & No.		Vote
Gabriela Maria De Jesus FEC 21-346	Motion to find probable cause on violating Section 106.07(5) [Count 1], but to dismiss pursuant to Section 106.25(4)(j), and no probable cause on violating Sections 106.141(1) and 106.19(1)(c), Florida Statutes.	5-0
Demetrius Jackson FEC 21-347	Motion to find probable cause on violating Sections 106.07(5) [Count 1], 106.19(1)(c) [Counts 2-3], and no probable cause on violating Section 106.141(1), Florida Statutes.	5-0
Confidential Case # 4	Results confidential.	n/a
Andy Mele FEC 21-395	Motion to find probable cause on violating Section 106.07(5) [Count 1], and no probable cause on violating Sections 106.141(1) and 106.19(1)(c), Florida Statutes.	5-0
Confidential Case # 5	Results confidential.	n/a
Action Committee to Dethrone DeSantis FEC 21-501	Motion to find probable cause on violating Section 106.19(1)(c) [Counts 1-2], and no probable cause on violating Section 106.07(7), Florida Statutes.	5-0
Hispanic Political Action Committee FEC 22-340	Motion to find probable cause on violating Section 106.07(7) [Counts 1-5], Florida Statutes.	5-0
Drake Wuertz FEC 23-174	Motion to find probable cause on violating Section 106.07(2)(b)1. [Counts 1-7], Florida Statutes.	5-0
Ryan Morales FEC 23-193	Motion to find probable cause on violating Section 106.07(2)(b)1. [Counts 1-6], Florida Statutes.	5-0
Bruce Hadley Antone FEC 23-233	Motion to find probable cause on violating Section 106.07(2)(b)1. [Count 1], Florida Statutes.	5-0
	EXECUTIVE DIRECTOR'S REPORT	
	The executive director provided updates for the following: • Legislative Updates	

- Litigation Updates
- Service of Process